



Revelry Event Designers
 3604 Medford St.
 Los Angeles, CA 90063
 (323) 263-1657

IN-0008616

Moelis & Company Group LP

01/26/2026 09:00 AM | load semi's
 02/05/2026 09:00 AM | cross load in mexico
 02/06/2026 06:00 AM | install casa del sol
 02/06/2026 06:00 AM | install agave
 02/07/2026 08:00 AM | install pool
 02/08/2026 09:00 AM | details at pool
 02/09/2026 09:00 AM | casa del sol event
 02/09/2026 09:00 AM | strike pool
 02/10/2026 09:00 AM | strike casa del sol
 02/10/2026 09:00 AM | strike agave
 02/11/2026 09:00 AM | fly to LA

PO:
Shipping Address:

Invoice Date:
Due Date: Upon Receipt
Salesperson: Leigh Carter

Description	Qty	Price		Total
LOBBY				
Boxes of Mannequins	3	\$0.00	T	\$0.00
Boxes of Gallery Easel Large Brass	2	\$0.00	T	\$0.00
Box of a (3) Pack Display Stand	1	\$0.00	T	\$0.00
 Console Tables - Demilune Seagrass 36.5" x 17" x 32.5"H	2	\$175.00	T	\$350.00
 Barstools - St. Lucia - Oak & Off White 19" x 29" x 39"	8	\$35.00	T	\$280.00
 Barbacks - Toulouse - Alcove painted palais white with rattan inserts 12"W x 18"D x 10"H - Frame and insert can be customised	2	\$1,500.00	T	\$3,000.00
Console Tables - Oak - Driftwood 74"W x 17.38" D x 31"H	4	\$200.00	T	\$800.00
 Bars - Bora Bora - Wood & Rattan 8' frame painted palais white with vinyl instead of seagrass ; remove wheels To be used separate 8'w x 12"L x 44"H - Custom Frame color & Inserts upon request	2	\$1,500.00	T	\$3,000.00
Total LOBBY				\$7,430.00
LOBBY COCKTAILS				
 Small Dining Tables - St. Lucia - Natural Wood 36" x 36" x 30"	3	\$300.00	T	\$900.00
 Dining Chairs - St. Lucia - Oak & Boucle 19"W x 20"L x 30"H	12	\$30.00	T	\$360.00

Description	Qty	Price		Total
 Stand Up Tables - St. Lucia - Natural Wood 36" x 36" x 42"	3	\$325.00	T	\$975.00
Total LOBBY COCKTAILS				\$2,235.00
CASA DEL SOL				
Roll of Natural Rayon Linen	1	\$0.00	T	\$0.00
 Dining Tables - Panama - Round Wood 72" - White Wash 72"D x 30"H	12	\$575.00	T	\$6,900.00
 Bars - Geometric Natural Wood - 8' 8' x 2' x 42"	1	\$650.00	T	\$650.00
 Dining Table - Las Vegas - Colored Top 8'x40" painted palais white semigloss 8'W x 40"L x 30"H - Custom Top & Base Color Upon Request	2	\$425.00	T	\$850.00
 Sofas - Cartagena - White Linen - Natural Wood W/ Rattan 87" W x 33" D x 30" H	4	\$475.00	T	\$1,900.00
 Club & Lounge Chairs - Cartagena - White Linen - Natural Wood W/ Rattan 32"W x 33"D x 29"H	8	\$300.00	T	\$2,400.00
 Coffee Tables - Cartagena - Natural Wood 63"W x 24"D x 13"H	4	\$255.00	T	\$1,020.00
 Ottomans - Cartagena- White Linen - Natural Wood W/ Rattan 51"W x 31"D x 16"H	4	\$200.00	T	\$800.00
 Small Dining Tables - Siena - Round Wood 29 3/4" X 30" H	4	\$300.00	T	\$1,200.00
Restoration Hardware Chairs	5	\$0.00	T	\$0.00
 Dining Chairs - Aspen - White Wash W/ Oatmeal Linen 18"X 21" X 32"H	250	\$30.00	T	\$7,500.00
 Bars - Bora Bora - Wood & Rattan Square Full Set Bar painted palais white semi gloss with rattan inserts 12'W x 12'L x 44"H	1	\$4,000.00	T	\$4,000.00
 Barback - Boston - Round W/ Plexiglass Tier Shelves painted palais white semigloss 4'2"D x 7'2"H - Color Upon Request	1	\$350.00	T	\$350.00

Description	Qty	Price		Total
Accent Pillows natural/ off white linen	16	\$25.00	T	\$400.00
FOH Drape - 70'Lx4'H natural rayon linen	1	\$1,000.00	T	\$1,000.00
Perimeter Drape - 50'Lx15'H natural rayon linen (6) Tiebacks	1	\$1,200.00	T	\$1,200.00
Perimeter Valance - 50'L natural rayon linen	1	\$250.00	T	\$250.00
Truss Covers - 12'x12" natural color to match natural rayon linen with velcro	2	\$125.00	T	\$250.00
Total CASA DEL SOL				\$30,670.00
POOL				
 Stand Up Tables - Las Vegas - Low Cocktail Table - Multicolor painted palais white semigloss 38"R x 30"H - Can be custom painted	11	\$275.00	T	\$3,025.00
 Pendant Lamp - Cartagena - Moon Grass Scalloped Dome 29"diam x 16"H - 5lb	5	\$100.00	T	\$500.00
 Barstools - St. Lucia - Oak & Off White 19" x 29" x 39"	20	\$35.00	T	\$700.00
 Bars - Geometric Natural Wood - 8' 8' x 2' x 42"	2	\$650.00	T	\$1,300.00
 Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal painted gold 8'W x 18"L x 8'7"H - Frame Color Upon Request	2	\$325.00	T	\$650.00
 Sofas - Aspen - Off White Boucle & Wood Left: 68"W x 39"D x 30"H Middle: 69"W x 40"D x 30"H Right: 68"W x 39"D x 30"H	4	\$550.00	T	\$2,200.00
Accent Pillows summer boucle, off white Monaco/Verona, natural/oatmeal linen	45	\$25.00	T	\$1,125.00
 Coffee Tables - Round - Multicolor painted palais white semigloss 48"round x19"h	4	\$300.00	T	\$1,200.00
Club & Lounge Chairs - Boucle & Oak Wood 28"W x 31"D x 29.5"H - Seat Height 18"H	8	\$250.00	T	\$2,000.00
 Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 28 3/8"D x 38"H	10	\$350.00	T	\$3,500.00

Description	Qty	Price		Total
 Coffee Tables - Round Drum Mango Wood 27"1/2 Diam x 19"1/2H	6	\$175.00	T	\$1,050.00
Coffee Tables - Nesting Tables - Mango Wood - Set Of 2 Small: 33"W Å 16"D Å 15"H Large: 38.25"W Å 20"D Å 18"H	8	\$250.00	T	\$2,000.00
 Club & Lounge Chairs - Aspen - Swivel White Boucle 26"W x 30"D x 30"H	8	\$250.00	T	\$2,000.00
 Club And Lounge Chairs - Oak & Boucle 28"W X 31"D X 30" H	8	\$300.00	T	\$2,400.00
 Coffee Tables - Round Mango Wood 36"d x 16"H	4	\$275.00	T	\$1,100.00
Club & Lounge Chairs - Sea Birch & Boucle - Natural 26"W x 33.5"D x 30"H - Seat Height 30"	6	\$300.00	T	\$1,800.00
 Dining Chairs - Shanghai - White Wash Wood W/ Oatmeal Linen Cushion 22"W x 22"L x 30"H	55	\$25.00	T	\$1,375.00
 Stand Up Tables - Natural Wood 36"Diam x 42"H	9	\$325.00	T	\$2,925.00
Truss Cover - 13'Hx12" off white heavy lycra Velcro	4	\$100.00	T	\$400.00
Truss Cover - 16'Hx12" off white heavy lycra Velcro	2	\$150.00	T	\$300.00
Truss Drape - 24'Wx18'H white linen or off white gauze with backing	2	\$750.00	T	\$1,500.00
Total POOL				\$33,050.00
Services				
trucking round trip + gas	3	\$35,000.00	T	\$105,000.00
installers for (2) travel days	8	\$1,250.00	T	\$10,000.00
installers for install & strike	8	\$4,550.00		\$36,400.00
per diems	9	\$1,008.00		\$9,072.00
supervisor onsite	1	\$7,000.00		\$7,000.00
rental cars + gas	1	\$2,000.00		\$2,000.00
flights roundtrip	9	\$700.00		\$6,300.00
local trucks & cross load	4	\$2,000.00		\$8,000.00

Description	Qty	Price	Total
pre-production/packing/supplies/manifest & logistics	1	\$4,800.00	\$4,800.00
local labor for super bowl install/strike	14	\$700.00	\$9,800.00
customs pricing - duties & giveaways	1	\$12,000.00	\$12,000.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full
Please ready the contract and sign it

Notes

Total Products:	\$73,385.00
Total Labor/Services/Misc:	\$210,372.00
Wear & Tear (3.00%):	\$2,201.55
Packing (5.00%):	\$3,669.25
Taxes :	\$18,367.54
Discounts:	(\$0.00)
Total:	\$307,995.34
Payments:	(\$0.00)
Balance:	\$307,995.34